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| IR0 K A ouT IN GROSS HDCP NET
*1| Z5F ARAF 39 37 16 | 9.7 |66.3
* 2 ARE H 41 40 81 98 |71.2
*3 TR EB 45 43 88 |15.7 | 723
* 4| JKIU =i 41 44 85 | 115 | 735
* 5 /K OEER 45 45 90 | 156 | 744
6 % EZ 45 45 90 | 155 | 745
*17| BE B— 39 40 19 | 43 |74.]
8 XKIFE %® 39 37 16 | 1.2 | 74.8
9| Wl FB 46 42 88 (126 | 754
*100 ®BH =B 45 44 89 | 134 |75.6
11| FHll E— 46 35 81 5.1 | 75.9
12 HR AX 41 40 | 81 | 5.0 |76.0
13| T FEiE 44 44 88 (120 |76.0
14 HHE &3 52 39 91 [ 149 |76.1
*15| HRER FE 44 43 87 [10.8 |76.2
16| R IE[A 41 39 80 | 3.6 |76.4
17| AH R 42 38 80 | 1.2 | 788
18| BJIl A 48 | 46 | 94 | 146 | 79.4
190 W) —ER 47 44 91 | 115 | 795
*200 T AE 48 46 94 | 145 | 795
21 Y H 39 45 84 | 40 |80.0
22| KIE = 46 49 95 [ 144 |80.6
23) EBA ik 41 44 85 | 4.3 | 80.7
24| kKEH JtiF 50 44 94 128 |81.2
*25| BAH IEsE 52 45 97 |15.1 [81.9
260 HE Z=—HS 48 48 96 | 13.8 | 822
2711 XK = 49 48 97 |13.7 |83.3
28| /NEFH HikE 49 44 93 | 9.1 |[83.9
29 EF BX 49 o1 100 | 15.4 | 84.6
*30) #EH BEA 46 56 | 102 | 14.7 | 87.3
31| KU R&E b4 43 97 | 89 | 88.1
32| kWU 1# o1 50 | 101 [ 10.2 | 90.8
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W g E & OUT N | GROSS | HDCP | NET
1| F EXE 43 | 43 | 86 |18.0 | 68.0
w2 RA #z 45 | 45 | 90 | 20.7 | 693
w3 M RS 47 | 47 | 94 (213 | 72.]
w4 HE EFH o0 | 48 | 98 | 244 |]3.6
%5 FY £ 48 | 46 | 94 [19.7 | 743
6| &H XE 45 | 4] | 92 |16.2 | /5.8
%7 iH —Ef b3 | 45 | 98 |21.9 | /6.1
8 wE EW p4 | 50 | 104 | 276 |76.4
9 BIRF U 48 | 49 | 97 | 194 |]]6
*10| #RE FAE 48 | 50 | 98 |20.2 |/]8
11| #£28 EfT 47 | O 98 |19.8 | /8.2
121 WUF 5 o1 52 | 103 | 23.8 | 79.2
13) TE #— o4 | 46 | 100 | 20.5 | 79.5
14| FHE #5rE 47 | 49 | 96 | 163 | /9.7
%15 BH EF p3 | 92 | 105 | 24.8 | 80.2
16| ME #= 48 | 48 | 96 | 15.6 | 80.4
17 1B # p4 | 51 | 105 | 24.6 | 80.4
18 =& #H p2 | 56 | 108 | 27.1 | 80.9
19| mHE #eR o1 52 | 103 | 21.6 | 81.4
%20 B B b3 | 50 | 103 | 21.4 | 81.6
21| 2@ /g4 o3 | 47 | 100 | 18.1 | 81.9
22 H¥ &b o6 | 956 | 112 | 29.1 | 82.9
23| HO E= o6 | 50 | 106 | 23.0 | 83.0
2 EF HEf o6 | 50 | 106 | 23.0 | 83.0
%25 HE BX o0 | 57 | 107 | 22.7 | 84.3
260 WK EiE o5 | 48 | 103 | 18.4 | 84.6
27| MAXK FE | 56 | 54 | 110 | 225 | 875
28) XY AF 60 | 51 | 111 | 234 | 8].6
29| KIt B3R o6 | 56 | 112 | 22.8 | 89.2
30| EE BB o5 | 64 | 119 | 19.0 |100.0
311 RH A5 - - - - -
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